PL-RP50JA 13 #

| AB5EEANEY ME<IVIIRILT> |02

s B
[C]
N 27 = ——— <
mEEST L_{ < 21 > X 21 > })
THET [2.7m o \23_/ w )
B = |EE 20
B @ | KERE 30
REEE |27 CHREEL )
*10
) 27 07
0
0 2 4 5 6 7
PREIEESHE (M)
| @Eﬁﬁ m/s
27 [m/s]
XHBE |2.7m . j * <@ .
B E %A ' 10 15 15 10 '
A @ | KERE30° 20
REEE |27 CHREEGS
*10
m) 05 05
// \
% 2 3 5 6 7
REEERH (M)
E =
- [cl
B EEST 27 0
— o5 o8 28 20
FABE |2.7m 26 > ( 26
B = |EE 20
B @ | FRE 7O
REEE |20CHTEL = o4 o o4
*10
(m)
0
0 2 3 4 5 6 7
REEERH (M)
B FR5 1 . [m/s]
S &
FHE= [2.7m j 6\3
20 20
= 0 15 15
B [ | FRE70° \)
REBE | 20CREEER _ 10 10
x10 7 N
) 05 05
0
0 2 3 4 5 6 7





